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Answer any five questions

1. Define Logic. Discuss that logic is a formal
and normative science. 5+10=15

2. What is proposition? Distinguish it from
sentence and judgement. 5+10=15

3. Discuss the relation between truth and
validity. Can there be vahd argument with
false premise? . 10+5=15
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What do you mean by fallacies? Discuss
different types of informal fallacies. 3+12=15

What is a standard form of categorical
syllogism? State and explain its rules.
5+10=15
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9. Symbolize any five of the following :

(@)

(b)

()

(d)

(e)

(9)
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Alan will not play, unless John plays the
game.

It is not the case that there is P and
there is no Q.

I will
examination or I

the
the

study hard and pass
will  fail
examination.

Either Sheila or Leela will participate
in the Quiz but they will not both win
the Quiz.

If government is re-elected, then it is
false that public confidence will be
restored and trade will improve. It is
false that either public confidence won’t
be restored or trade won’t improve.
Therefore, government will be re-elected.

Tom and Sam both work late only if it
is not a holiday.

It is not the case that neither Mira nor
Sita will win the election.

( Turn Qver )

3x5=15



(4)

1o. o
0. Test the validity of the following arguments

with truth tableg (any three) : 5x3=15
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